when jobs create more jobs                                                                        BASIC INDUSTRIES                                                
Explanation: States and provinces compete fiercely to attract new employers. Low unem​ployment, good jobs, and a strong tax base are on every region’s wish list. States especially are interested in attracting new basic industries, which are those that sell outside the local region and thus bring new money into the region. In contrast, nonbasic industries produce mainly for the local market, supplying the needs of the region’s inhabitants.  In effect, nonbasic industries simply circulate existing money around within a region.  Exports from basic industries are the engine of regional development. They not only bring in money from outside to employ workers in the basic industries, but also, each job created in the basic sector, creates more jobs are in the nonbasic sector. This rela​tionship is called the regional multiplier. The multiplier is the total number of jobs created in the basic and nonbasic sectors for each new basic job in a region.

Summary: The basic industries of a state or province are the driving forces of its economic growth. W/hen the basic industries gross they create additional jobs in other, nonbasic industries. One way to determine how many additional nonbasic jobs will he created by job growth in a basic economic category is to calculate a regional multiplier.

We can define a regional multiplier as

k = Et/Eb
k = regional multiplier

Et = total regional employment

Eb = regional employment in basic jobs

This is equivalent to the relationship
         Et = kEb
which shows that total regional employment is an outcome of basic employment times k, the regional multiplier.

ASSIGNMENT
1. Region A has a total labor force of 1,000. Of these jobs, 400 are in the basic sector and 600 are nonbasic. What is the size of the regional multiplier?

2. General Motors plans to build a new parts factory in Region A employing 200 new people in basic jobs. How many total new jobs will be created in Region A?

3. Region B has a total workforce of 800, of which 400 are basic jobs. Region C has 500 total workers, 300 in the basic sector. Calculate each region’s multiplier then calculate the total number of new jobs in each region if a new plant located there with 100 new basic jobs. Which region will get more new jobs?

4. Lockheed announced on June 27, 1995, that it would close a defense contract plant in Tucson, Arizona, laying off 385 workers. If all of these jobs were basic and the Tucson region has a regional multiplier of 2.3, how many total jobs did Tucson lose?

